P

S OMERRILL

\/\\Q‘-k MANUFACTURING

& No-Lead
SANITARY (waterTiGHT) PITLESS OR WELL CAPS
All Caps Certified Watertight - MERRILL WC SERIES SANITARY (WATERTIGHT) CAPS
Pitless Adapter Standard PAS-2, For use with all Pitless Units and Adapters
PAS-97(2019)(R 2023), ASSE Standard Order UPC Bar Casing Casing Conduit Vent |Approx.
#1093-2019(R 2023) and lllinois Code. No. Code (Qty. 1) 1.D. Size 0.D. Size | Tap Size Size |Wt./Lbs.
(% WCS00 642367 41843 4 3" 4-1/2" 1" 1/2" 7.3
(> WC400 642367 02863 3 4" 4-1/2" 1" 1/2" 9.5
(% WGC500 642367 02865 7 5" 5-9/16" 1" 3/4" 11.7
5 WC600 642367 02867 1 6" 6-5/8" 1-1/4" 3/4" 13.8
3 WC800 642367028695 8" 8-5/8" 1-1/2" 1" 29.7
« Painted Cast Iron * Two Neoprene O-Rings
« Stainless Steel Bolts « Individually Boxed
* Galvanized Vent Ell with Stainless Steel Screen Included
WG Series MERRILL WCI SERIES SANITARY (WATERTIGHT) CAPS
For use with all Pitless Adapters
Order UPC Bar Casing Casing Conduit Vent | Approx.
No. Code (Qty. 1) 1.D. Size 0.D. Size | Tap Size Size |Wt./Lbs.
& wcle 642367 02891 6 6" 6-5/8" 1" 3/8" Dia. 10.8
With 1" Top Tap
3 WCIBT100 6 42367 45377 0 6" 6-5/8" 1" 3/8" Dia. 10.8
With Grounding Screw & Terminal Lugs
@ WCIG6 6 42367 05885 2 6" 6-5/8" 1" 3/8" Dia. 10.9
« Plated Bolts » Wide Compression Gasket
WCI Series * Painted Cast Iron * Individually Boxed

MERRILL WCP SERIES SANITARY (WATERTIGHT) CAPS
For use with all Pitless Adapters (Aluminum Top - PVC Bottom)

Order UPC Bar Casing Casing Conduit Vent | Approx.
No. Code (Qty. 1) 1.D. Size 0.D. Size | Tap Size Size |Wt./Lbs.
(% WCP500 6 42367 03865 6 5" 5-1/2" 1" 3/4" 2.4
No Adapter for 1" NPT
% WCPS500 6 42367 05887 6 5" 5-1/2" 1" 3/4" 2.4
With Grounding Screw & Terminal Lugs
WCP Series (WCPS500 Shown) @ WCPQ5OO 6 42?;67 05888 3 5" 5-1/2" - 1" 3/4" 2.5
¢ Aluminum Casting * Plated Bolts * Individually Boxed
« Bronze Screen Included * PVC Base
WCOC MERRILL WCO SERIES SANITARY (WATERTIGHT) CAPS
shown For use with all Pitless Adapters (All Aluminum Cap)
with top Order UPC Bar Casing | Casing | Top |Conduit | Vent |Approx.
éﬁ{’opr:zggg; No. Code (Qty. 1) | LD. Size |0.D. Size| Tapping|Tap Size | size |Wt./Lbs.
or water Standard Aluminum Cap & 1" PVC Nipple
sampling. (% WCOS400 6 42367 04447 3 4" 4-1/2" - 1" 1/2" 2.0
(% WCOS500 6 42367 04448 0 5" 5-9/16" 1" 3/4" 2.4
WCO Series (WCOC600 Shown) (% WCOS600 642367 04449 7 6" 6-5/8" 1" 314" 29
Aluminum Cap With Grounding Screw, Terminal Lugs & 1" PVC Nipple
@ WCOG400 6 42367 04450 3 4" 4-1/2" === 1" 1/2" 2.0
(% WCOGS500 642367 044510 5" 5-9/16" --- 1" 3/4" 2.4
WCOG (% WCOGB00 6 42367 04452 7 6" 6-5/8" 1" 3/4" 2.9
shown Aluminum Cap With Top Tapping & 1" PVC Nipple
with (% WCOC400 6 42367 04453 4 4" 4-1/2" il 1" 172" 1.9
grs";g\'lng % WCOCS500 642367 04454 1 5" 5-9/16" 1-1/4" 1" 3/4" 2.4
' 5 WCOCB00 6 42367 04455 8 6" 6-5/8"  1-1/4" 1" 3/4" 2.8
- Aluminum Cap With Grounding Screw, Terminal Lugs, Top Tapping & 1" PVC Nipple
WCO Series (WCOG Shown) (% WCOGC400 642367044565 4" 412" 1 1" 12" 20
WARNING: This product meets Federal @3 WCOGCS500 6 42367 04457 2 5" 5-9/16" 1-1/4" 1" 3/4" 2.4
A Un%/?ggkisﬂge\cf}??ctgﬂ ffiglslt';edngern;s brlétv 235 % WCOGCB00 6 42367 04458 9 6" 6-5/8"  1-1/4" 1" 314" 29
@ as no-lezfd in the )étate of Calif%enia. e Aluminum Casting » Gasket Seal « Acorn Nut Protects Threads
* Bronze Screen Included * Individually Boxed

_78_ Form No. 2020.26



s No-Lead

MeErRRrILL

MANUFACTURING

-0

SANITARY (waterTicHT) PITLESS OR WELL CAPS

All Caps Certified Watertight -
Pitless Adapter Standard PAS-2,
PAS-97(2019)(R 2023), ASSE Standard
#1093-2019(R 2023) and lllinois Code.

WCOP Series (WCOP Shown)
WCOP shown with PVC base

WCOPP Series (WCOP504P Shown)

WCOPP Series (WCOP403P Shown)

WCH Series

WCB Series

WARNING: This product meets Federal
USA Drinking Water requirements but has
@ not been specifically tested or approved as

no-lead in the State of California.

MERRILL WCOP SERIES SANITARY (WATERTIGHT) CAPS

For use with all Pitless Adapters

Order UPC Bar Casing Casing | Conduit | Vent | Approx.
No. Code (Qty. 1) I.D. Size | O.D. Size | Tap Size | Size |Wt./Lbs.
With PVC Base and Aluminum Top Cap
(>3 WCOP400 6 42367 06153 1 4" 4-1/2" 1" 1/2" 1.6
(% WGCOP500 642367 06154 8 5" 5-9/16" 1" 3/4" 1.9
With PVC Base and Aluminum Top Cap with 1-1/4" Top Tap
(% WCOPC400 642367 06174 6 4" 4-1/2" 1" 1/2" 1.6
(% WCOPC500 6 42367 45386 2 5" 5-9/16" 1" 3/4" 1.9
With Grounding Screw & Terminal Lugs in PVC Base - Added
@ WCOPG400 6 42367 06266 8 4" 4-1/2" 1" 1/2" 1.6
@ WCOPG500 642367 06267 5 5" 5-9/16" 1" 3/4" 2.0
* Aluminum Top Casting * Gasket Seal « Acorn Nut Protects Threads

* Bronze Screen Included « Individually Boxed

MERRILL WCOPP SERIES SANITARY (WATERTIGHT) CAPS

For use with all Pitless Adapters

Order UPC Bar Casing Casing | Conduit | Vent |Approx.
No. Code (Qty. 1) I.D. Size | O.D. Size | Tap Size | Size |Wt./Lbs.
With PVC Base - Molded Plastic Top Case with 4 Bolt Holes
(5 WCOP404P 6 42367 44245 3 4" 4-1/2" 1" 1/2" 1.0
(3 WCOP504P 6 42367 44246 0 5" 5-9/16" 1" 5/8" 1.3
4 Bolt Hole Cap With Grounding Screw & Terminal Lugs in PVC Base - Added
(>3 WCOPG404P 6 42367 44247 7 4" 4-1/2" 1" 1/2" 1.1
(= WCOPG504P 6 42367 44248 4 5 5-9/16" 1" 5/8" 14
With PVC Base - Molded Plastic Top Case with 3 Bolt Holes
(3 WCOP403P 6 42367 44037 4 4" 4-1/2" 1" 1/2" 1.0
(3 WCOP503P 6 42367 44038 1 5" 5-9/16" 1" 5/8" 1.3
« Molded Plastic Top (uV Resistant) » Gasket Seal
« Acorn Nut Protects Threads (Do Not Rust) « Stainless Steel Screen Included

* Room for Wrench Around the Bolts for Easier Use

« Cap Bolts Do Not Fall Out of PVC Bottom Ring - O-ring holds in place

» Ground Screw Model - Brass Insert in the PVC Bottom Ring with a Green Ground
Screw and 2 Terminal Lugs

MERRILL WCH SERIES SANITARY (WATERTIGHT) CAPS

Order UPC Bar Casing Casing Conduit Vent | Approx.

No. Code (Qty. 1) | I.D. Size 0.D. Size | Tap Size Size |Wt./Lbs.
% WCHL1200 6 42367 43886 9 12" 12-3/4" 1-1/4" 3/4" 10.2

¢ Cast Aluminum * Two Neoprene O-Rings

« Stainless Steel Bolts « Stainless Steel Screen Included

MERRILL WCB SERIES SANITARY (WATERTIGHT) CAPS

For use with all Pitless Units and Adapters

Order UPC Bar Casing Casing | Conduit Vent |Approx.

No. Code (Qty. 1) I.D. Size | O.D. Size | Tap Size | Tap Size |Wt./Lbs.
(% WCB400 642367 028718 4" 4-1/2" 1-1/2" 1" 14.3
(> WCB500 642367 02872 5 5" 5-9/16" 1-1/2" 1" 15.9
(>3 WCBB00 6 42367 02873 2 6" 6-5/8" 1-1/2" 1-1/4" 24.1
(3 WCB800 6 42367 02890 9 8" 8-5/8" 1-1/2" 2" 39.3
(6 WCB100 642367 02870 1 10" 10-3/4" 3" 2-1/2" 58.6

With Grounding Screw
(% WCBGA400 6 42367 09681 6 4" 4-1/2" 1-1/2" 1" 14.3
@ WCBG500 6 42367 41883 0 5" 5-9/16" 1-1/2" 1" 15.9
(% WCBGB00 6 42367 06327 6 6" 6-5/8" 1-1/2" 1-1/4" 24.1
% WCBG800 642367 06328 3 8" 8-5/8" 1-1/2" 2" 39.3
3 WCBG100 6 42367 08020 4 10" 10-3/4" 3" 2-1/2" 58.6

* Painted Cast Iron « Wide Compression Gasket

* Plated Bolts * Individually Boxed

_79_ Form No. 2020.26



WMe=ERRIL L

MANUFACTURING

VENT CAPS AND ACCESSORIES .

The watertight well cap provides protection

to the exposed portion of the well casing by WATERTIGHT WELL CAPS - ABS RESIN

being tamper.resistant’ forming a protective For use with SP Pitless Units and SPK Pitless Kits

cover from the elements, and being resistant Order UPC Bar Casing | Casing | Conduit | Vent |Approx.

to the entry of vermin or contaminants. No. Code (Qty. 1) | I.D. Size | O.D. Size | Tap Size Size | Wt./Lbs.

Quality watertight well caps of various (5 WCABS400 6 42367 10565 5 4" 4-1/2"  1-1/4"IPS  7/16" 2.2

designs are listed by Water Systems Council (% WCABS600 6 42367 08944 3 6" 6-5/8" 1-1/4"IPS  7/16" 4.0

as approved under standard PAS-97(2019) * Cap fits 6" IPS casing with 1-1/4" IPS conduittap  « Watertight

(R 2023) and ASSE Standard #1093-2019(R * Hi-impact ABS resin * Vermin Proof

2023). The listed well caps have been » Formulated for outdoor weatherability

tested by an independent laboratory and

certified to have passed the testing standard MERRILL VC SERIES VENT CAPS

PAS-97(2019)(R 2023) and ASSE Standard For use with Pitless Adapters (All Aluminum)

#1093-2019(R 2023). Order UPC Bar Casing Casing | Conduit | Approx. DPM

- No. Code (Qty. 1) | I.D.Size |O.D. Size Size Wt./Lbs. No.
- = (=% VC400 6 42367 02841 1 4" 4-1/2" 1" 1.0 C4

% vC500 6 42367 02842 8 5" 5-9/16" 1" 15 €5
(4 VvC558 6 42367 02843 5 5-5/8" 6-1/4" 1" 1.8 C56
% vCceoo 6 42367 02844 2 6" 6-5/8" 1" 1.9 C6
# vCc700 642367 028459  6-3/8" 7" 1" 2.1 c7
(% VC800 64236702846 6 8" 8-5/8" 1" 2.6 cs

¢ Aluminum Casting

¢ 2-Cup Point Socket Head Set Screws

MERRILL VCMI MULTISIZE VENT CAP

For use with Pitless Adapters

VC Series

VCMI Series

Vi)
v

Order UPC Bar Casing Conduit Approx.
No. Code (Qty. 1) Sizes Size Wt./Lbs.
& vemie 642367 02851 0 5-5/8" thru 6-1/4" 3/4" 4.2

* Painted Heavy Cast Iron
« Individually Boxed

* 4 Hex Head Cap Screws

SCREENED WELL VENT - MUSHROOM STYLE

« Galvanized Casting

WV1i00

=

o

405

« Bronze Screen

Order UPC Bar Thread Vent Fits Approx.

No. Code (Qty. 1) Size Baker Cap Wt./Lbs.
3 WV75 6 42367 42155 7 3/4" N/A 0.3
G4 WV100 6 42367 03026 1 1" WCM6, WCB400, WCB500 0.3
@ wWvi2s5 6 42367 03027 8 1-1/4" WCB600 0.5
4 WV200 642367 030285 2" WCB800 1.0

GALVANIZED VENT ELL - WITH STAINLESS STEEL SCREEN

Order UPC Bar Thread Vent Fits Approx.

No. Code (Qty. 1) Size MERRILL WC Wt./Lbs.
@ 405 642367002190  1/2" NPT WC400 0.2
5 505 642367 003319  3/4" NPT WC500, WC600 0.4
% 805 6 42367 00656 3 1" NPT WC800 0.6

WELL LOCATOR

Order UPC Bar Approx.

No. Code (Qty. 1) Description Wt./Lbs.
=% wLi 6 42367 11839 6 Magnet with handle 15

WL1

WARNING: This product meets Federal
USA Drinking Water requirements but has
not been specifically tested or approved
as no-lead in the State of California.

» Handle marks where the well is
* Backing up is no longer a guess

« Center rig up to the well, quick and easy
* Magnetic pick up tool

Form No. 2020.27

-80-



OM=ERRILL

MANUFACTURING

o oese WATERTIGHT CAP PARTS
WC Series Watertight Cap WCB Series Watenrtight Cap
Order UPC Bar Parts Approx. Order UPC Bar Parts Approx.
No. Code (Oty. 1) Description Wt./Lbs. No. Code (Oty. 1) Description Wt./Lbs.
WC400 Parts - 4" WCB400 Parts - 4" i
401 6 42367 00215 2 cap 1.90 WCB401 6 42367 03843 4 Cap Casting 13.00
402 6 42367 42902 7 Cap Screws(4) 0.06 3?xzoos 6 42367 429157  Square Head Bolt W/Nut("ea) 0.09
ORD45 6 42367 00217 6 Cap O-Ring 0.01 1"PLUG 6 42367 03105 3 Square Head Plug - 1 0.23
’ WCB400PG 6 42367 03840 3 Paper Gasket 0.04
404 6 42367 00218 3 Adapter Head Casting __ 4.49 WCB404 6 42367 03846 5 Retainer Ring Casting 3.14
405 6 42367 00219 0 Screen Air Vent 0.22 38X3508 642367 42916 4  Square Head Bolt w/Nut(ea) ~ 0.12
OR349 6 42367 00220 6 Head O-Ring 0.02 WCB400RG 6 42367 03842 7 Rubber Gasket 0.26
407 6 42367 00221 3 Clamping Ring 1.38 WCB406 6 42367 03850 2 Clamping Ring Casting 3.06
408 6 42367 42903 4 Head Ring Screws(4) 0.06 38X250S 642367 42917 1  Square Head Bolt w/Nut(ea) ~ 0.10
WC500 Panrts - 5" WCB500 Parts - 5"
501 6 42367 00315 9 Cap 3.18 WCB501 6 42367 03854 0 Cap Casting 6.09
402 6 42367 42902 7 Cap Screws(4) 0.06 38X200S 6 42367 429157  Square Head Bolt w/Nut(ea) 0.09
OR257 6 42367 00324 1 Cap O-Ring 0.01 1"PLUG 6 42367 03105 3 Square Head Plug - 1" 0.23
504 6 42367 00327 2 Adapter Head Casting 5.30 WOCB500PG 642367 03851 9 Paper Gasket 0.05
505 6 42367 00331 9 Screen Air Vent 0.38 WCB504 6 42367 03857 1 Retainer Ring Casting 3.31
OR433 6 42367 00334 0 Head O-Ring 0.03 38X400S 6 42367 42918 8  Square Head Bolt w/Nut(ea) 0.12
507 6 42367 00335 7 Clamping Ring 1.72 WCB500RG 6 42367 03853 3 Rulbber Qasket : 0.39
408 6 42367 42903 4 Head Ring Screws(4) 0.06 WCB506 6 42367 03861 8 Clamping Ring Casting 3.46
. 38X250S 642367 429171  Square Head Bolt w/Nut(ea) 0.10
WCG600 Parts - 6 WCBG00 Pants - 6"
601 6 42367 00437 8 Cap 4.08 WCB601 6 42367 02879 4 Cap Casting 12.49
402 6 42367 42902 7 Cap Screws(4) 0.06 1-1/4PLUG 6 42367 00023 3 Square Head Plug 1-1/4" 0.36
OR262 6 42367 00439 2 Cap O-Ring 0.01 WCBB0OPG 6 42367 02875 6 Paper Gasket 0.06
604 6 42367 00440 8 Adapter Head Casting 6.39 WCB604 6 42367 02883 1 Retainer Ring Casting 3.96
505 6 42367 00331 9 Screen Air Vent 0.38 38X400S 6 42367 42918 8  Square Head Bolt w/Nut(ea) 0.12
OR439 6 42367 00442 2 Head O-Ring 0.03 WCBG0ORG 6 42367 02877 0 Rubber Gasket 0.50
607 6 42367 00443 9 Clamping Ring 1.54 WCB606 6 42367 02887 9 Clamping Ring Casting 4.79
408 6 42367 42903 4 Head Ring Screws(4) 0.06 38X250S 642367 429171  Square Head Bolt w/Nut(ea) 0.10
WG800 Parts - 8" WCO Series Watertight Cap
801 642367 00652 5 Cap 8.73 | Order UPC Bar Parts Approx.
802 6 42367 42904 1 Cap Screws(4) 0.06 No. Code (Oty. 1) Description Wt./Lbs.
OR270 6 42367 00654 9 Cap O-Ring 0.02 WCO0400 Pants - 4"
804 6 42367 00655 6 Adapter Head Casting 15.28 wco4art 6 42367 04613 2 Cap Casting 1.07
805 6 42367 00656 3 Screen Air Vent 0.45 WCO04B 6 42367 04621 7 WCO4 Bottom Ring 0.31
OR446 6 42367 00657 O Head O-Ring 0.04 WCOP4B 6 42367 064754  WCOP400 Plastic Bottom 0.41
807 6 42367 00658 7 Clamping Ring 3.37 WCO04M 6 42367 07202 5 WCO4 Middle Ring 0.55
808 6 42367 42905 8 Head Ring Screws(4) 0.08 WCO04G 6 42367 04567 8 Gasket 0.05
- = 5/8SCREEN 6 42367 04610 1 Vent Screen 0.01
WCI6 Series Watentight Cap S;BSNAPRING 6 42367 04611 8 Snap Ring 0.01
Order UPC Bar Parts Approx. | 1/4X7/8HHCS 6 42367 00049 3 Hex Head Cap Screw w/Nut(ea) 0.01
No. Code (Oty. 1) Description Wt./Lbs. 1/4X1-1/2 6 42367 05416 8 1/4" Cap Screw(ea) 0.02
wcle01 6 42367 42906 5 Cap Casting 6.60 1/4-20ACORN 6 42367 04608 8 1/4" Acorn Nut (ea) 0.01
WCI6G 6 42367 02894 7 Rubber Gasket 0.10 GGS1/4 6 42367 01602 9 Ground Screw 0.02
WCI6S 6 42367 02896 1 Rubber Seal 0.61 PVCN1002GRAY 6 42367 11742 9 1"x1"x2" LG PVC Nipple 0.05
WCI604 6 42367 42907 2 Clamping Ring Casting 3.26 Pi5A 642367 01986 0  1/4-20 Plated Hex Nut(ea) 0.01
38X250 6 42367 42908 9 Hex Bolt with Nut(5) 0.10 OR009 6 42367 04612 5 O-Ring(ea) 0.01
WCI605 6 42367 42909 6 Bronze Screen 0.01 WCO500 Parts - 5"
GGS1i/4 6 42367 01602 9 Grounding Screw 0.02 WCOS5T 6 42367 04629 3 Cap Casting 1.37
. . WCO5B 6 42367 04635 4 WCO5 Bottom Ring 0.38
WCM6 Series Watertight Cap WCOP5B 642367 06476 1  WCOP500 Plastic Bottom  0.60
Order UPC Bar Parts Approx. WCO5M 6 42367 07203 2 WCOS5 Middle Ring 0.60
No. Code (Qty. 1) Description Wt./Lbs. WCO5G 6 42367 04568 5 Gasket 0.07
WCM6041 6 42367 42911 9 Cap Casting 10.00 3/4SCREEN 642367 05121 1 Vent Screen 0.01
WCI6G 6 42367 02894 7 Rubber Gasket 0.10 3/4SNAPRING 6 42367 05118 1 Snap Ring 0.01
WCM6S 6 42367 04461 9 Rubber Seal 0.61 1/4X7/8HHCS 6 42367 00049 3 Hex Head Cap Screw w/Nut(ea) 0.01
WCM604 6 42367 42912 6 Clamping Ring Casting 3.26 1/4X1-1/2 6 42367 05416 8 1/4" Cap Screw(ea) 0.02
38X250 6 42367 42908 9 Hex Bolt with Nut(5) 0.10 1/4-20ACORN 6 42367 04608 8 1/4" Acorn Nut(ea) 0.01
1"PLUG 6 42367 03105 3 Square Head Plug - 1" 0.23 PVCN1002GRAY 6 42367 11742 9 1"x1"x2" LG PVC Nipple 0.05
Pi5A 6 42367 01986 0  1/4-20 Plated Hex Nut(ea) 0.01
WCO0600 Parts - 6"
Order UPC Bar Parts Approx. WCO6T 6 42367 04630 9 Cap Casting 1.62
No. Code (Qty. 1) Description Wt./Lbs. WCO6B 6 42367 04636 1 Bottom Ring 0.45
WCP501 6 42367 03934 9 Cap Casting 1.65 WCO6G 6 42367 04574 6 Gasket 0.09
WCP502 6 42367 03960 8 Bottom Ring (PVC) 0.59 WCO6M 6 42367 07204 9 Middle Ring 0.68
25X100 6 42367 42914 0 Hex Bolt with Nut (4) 0.02 1/4X1-1/2 6 42367 05416 8 1/4" Cap Screw(ea) 0.02
WCP503 6 42367 04462 6 Conduit Adapter 0.09 1/4-20ACORN 6 42367 04608 8 1/4" Acorn Nut(ea) 0.01
WCP504 6 42367 04253 0 Bronze Screen 0.01 PVCN1002GRAY 6 42367 117429  1'x1"x2" LG PVC Nipple 0.05
WCP505 6 42367 04254 7 Snap Ring 0.01 Pi5A 642367 019860  1/4-20 Plated Hex Nut(ea) ~ 0.01
GGS1/4 6 42367 01602 9 Grounding Screw 0.02 ORO009 6 42367 04612 5 O-Ring(ea) 0.01

-81-

Form No. 2020.2




	028Well Caps(3)
	029Watertight Cap Parts

